Math 53, Discussion 107

Friday, April 17,2020 9:42AM

16.5 (Curl and Divergence) *
16.6 (Parametric Surfaces and Their Areas) )
P
p)
3 3 )
v S =t L
Loy g FE .
J
s
CurlF = VxF = (0,,0,,0,)xF [ =1
DivF =V ,F =(0,,0,,3,) F . 1 —
T =iy
Theorem: \‘j,"\>

Q@ Curl(Vf) =0
2. curl(F) = 0 implies F is conservative (on a@
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2. Determine whether or not the vector field is E \/\‘ Cl% (G . L
conservatlve if it is, find its potential Fn (o) Irtth] de
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3. For # = (x,y, z) verify the following IV‘(( ))
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4. Show that if f is harmonic, then §, Vf - fids = 0 % ﬁ o
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